Creative Factoring and Other Interesting Algebra
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Algebraic Limits Worksheet
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Vertical and Horizontal Asymptotes Worksheet

(i:-‘ate the vertical, horizontal, or slant asymptotes for the following (justify using limits). Sketch the graph and find the
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Infinite Limits Worksheet
Find the Limit.
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Limits Review

“Limit of a constant is a constant.
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Rewrite the absolute value. /—T

Reminder, if the inside is positive when you substitute in use the positive of the inside, if the inside is negative when
you substitute in use the negative of the inside.
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Limits to infinity. You can do a behaves like only in limits to infinity. You can also divide by the highest
power in the denominator, simplify, and then take the limit.
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lim involving square roots : Use the behaves like method and remember that \/— | xl ! W
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Continuity: Limit from right = limit from left = value of f (x) at the point.
Is f(x) continuous? Why?
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~ Calculus : Limits and Continuity Name
Limits and Continuity Review Date Beriod SN

(‘\ ' | LIMITS REVIEW

Use the properties and factoring techniques to find each limit.
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Limits and Continuity Review Date Period

("\ 14. Draw a function that meets the following conditions. Find the indicated 11m1t if it exists. Is this
function continuous? Explain.
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Calculus : Limits and Continuity Name

Limits and Continuity Review Date Period

f. Use the graph to determine the intervals for which the function is continuous.
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